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EXAMPLE/EXEMPLO/EJEMPLO 
DATA/DADOS/DATOS 

 
SBase= 100 MVA 
VBase= 69 kV 
 
Passive Elements 
Elementos passivos 
Elementos pasivos 
 
XLine/Linha/Línea     = 0,4  Ω/km 
RLine/Linha/Línea     = 0,03 Ω/km 
XCap-Line/Linha/Línea = 0,3  MΩ-km 
 

Bus 
Barra 

Bus Type 
Tipo de Barra 

PD  
(MW) 

QD  
(MVAR)

PG  
(MW) 

QG  
(MVAR) V  δ  

1 PQ 5 4 - - ? ? 
2 PV 4 3 3 ? 1,05 ? 
3 SLACK - - ? ? 1,08 0 

 
p.u. for the Lines/para as Linhas/para las Líneas 
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Lines/Linhas/Líneas 
 

i j rij (p.u.) xij (p.u.) ysh ij/2 (p.u.) 
1 2 0,0378 0,5041 0,0048 
1 3 0,0315 0,4201 0,0040 
2 3 0,0252 0,3361 0,0032 

 


